
 

 

  

Example:  

Right lanes – one bare wheel path 

Left lanes – mostly bare pavement 

 

Examples:  

Near normal prudent winter weather driving conditions 

 



 

 

 

 

This is a second priority city street showing both driving lanes 

as plowed yet limited pavement visible. This road meets the 

definition of passable.  Lack of bare wheel path most likely to 

occur during times of extreme cold (10 degrees or less). 

This is a city street showing both driving lanes as plowed yet no 

pavement visible. This road meets the definition of passable. 

This is a city street showing both driving lanes as plowed 

where patches of pavement are visible. This road meets the 

definition of passable. 


